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Il Semester B.Com. Examination, November/December 2017
(Semester Scheme) (2015-16 and Onwards) (CBCS) (F + R)
COMMERCE
3.6 : Quantitative Analysis for Business Decisions - I

Time : 3 Hours Max. Marks : 70

Instructions:  Answers should be written completely either in English or
in Kannada.

SECTION-A
1. Answerany five sub-questions. Each sub-question carriestwomarks. (5x2=10)
OIRFTITTR T YUBTINOT SVZ0%. B NBHIT 2 90BN,

a) What do you mean by correlation ?
RBROWOT DOTTEID ?

b) If bxy =—0.36, byx = —1.38, obtain ‘r.
bxy = —0.36, byx = —1.38, $T3 ‘I’ 30E&R0D.

c) Write the meaning of irregular variations.
303060 LT EFBOI @cﬁrqu DA

d) Expand (y—1)¢=0.
(y = 1)8 = 0 a3=) H5or.

e) What is meant by multi-stage sampling ?
WBIBOIT TINTO OT3ER0 ?

f) Mention methods of sampling.
RRTOOH &zﬁﬁ%ﬁa’g{ PR

g) What is probability ?
ROLIRVC0IS 0BTEI0 ?

P.T.O.
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SECTION-B

Answerany three questions from the following. Each question carries six marks. (3x6=18)
CIRF RT3 ST BINON LvZor. J8 BB &0 08,

2. Ranks given in a music contest assigned by two judges are given below :
Judge A : 4 B 8 6 7 3 1 2
JudgeB: 7 5 4 1 3 2 6 8
Calculate rank correlation.

RoNES FF 0. [T SERDFTMOTT B3 F980% 3eeaNTRY DeRTITYT,
SeRRFIMT A 4 5 8 6 7 3 1 2
3SRFIMS B: 7 5 4 1 3 2 6 8
Beed ﬁSﬁouozjﬁa'bc{ FOBIGEROUD.

3. Calculate the two regression equations from the following data :
X =20,Y =12, 0x=5,06, =25,r=0.8.
FPNT QVONLOT DTE &03O[0 z)’arbsa%r{e}dg{ FOTBIG ROV,
X =20,Y =12, 0x=5,06, =25,r=0.8.

4. Estimate the population of India for the year 2021 using Binomial expansion
method from the following data :

Year: 1961 1971 1981 1991 2001 2011

Population : 439 548 684 8 100 111

(in crores)

202134038 wH0a] o) 3 BUNS Bedoh R0 0D 008 BRI DERIBO DFON
0TI

SR 1961 1971 1981 1991 2001 2011

wRzoss, 439 548 684 89 100 111

(Bncsinv)
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5. A man wants to check the inventory records against the physical inventories by

a sample survey, permitted deviation is + 5 and standard deviation is 39.4. Find
the sample size, if the confidence level is 90% (Value of confidence co-efficient
90% = 1.64).

ROBONE NS 083 T8 B AOBONY VS 2B W0 VOB DRTBLD 288D
RS +5, DOFR, 28830 39.4 =02 Soexdzdes, 90%, ST TRTOOD SFITHRY
BOROBRCAD. (50?}33"0'53 A®noeeg 90%=1.64)

6. Two unbiased dice are thrown. Find the probability that
a) both the dice show the same digits
b) the first die shows 5.

QOB TBFTBDVT BRI, DRTIN, ;ﬁo&id@eoﬁa@o@a&ﬁi BOT SBOD.
a) Q0B dﬁﬁ% 2,003¢ #osj?sojaag 3RCDTIN
b) Beowsod Bz Ros35 BeOTIN.

SECTION-C

Answerany threequestions from the following. Eachquestion carriesfourteen marks.

(3x14=42)

ARRTREAR Bets FEROR U308, BITIK14 odned

7. Compute Pearson’s correlation co-efficient for the following data and also calculate
the probable error.

Supply : 3 29 20 5 A 24 24 21 18515
(quintals)

Price®) : 11 2 13 14 15 16 15 17 18 20
3N im%dad RS2ITo%0 3 LeSoes &oﬁoo‘a’é‘p a&%@oﬁood ﬁ&#owoqﬁﬁz\g e?a%zaad
BRE TN BoIRIC0Td Be) FOTBIBOAD.

Bwosy: 30 29 20 25 24 24 24 2 18 15
(3pte*)

38 ) : 1 12 13 14 15 16 15 17 18 20
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8.

10.

11.

Calculate trend values by the method of least-squares from the data given below

Year : 2009 2010 2011 2012 2013 2014 2015 2016
Sales : 76 80 130 144 138 120 174 190
(Rs. lakhs)

Plot the values on a graph. Also estimate the sales for 2017.
é@% BNE DFOITE) 2083 T :gdﬁoﬁz& TROORD TN 8@@5@5@&3&@2 go® zﬂ@aﬁa:’%
o

[ae}

8% 2320178 0mom FR0OR) JoreB0.

S 1 2009 2010 2011 2012 2013 2014 2015 2016
SRoW: 76 80 130 144 138 120 174 190
(3. O2RY)

The heights (in inches) of a group of fathers and sons are given below :
Heightof fathers: 71 68 66 67 70 71 70 73 72 65 66
Heightofsons :69 64 65 63 65 62 65 64 66 69 62

Find the linesof regression and estimate the height of son when the height of
father is 69 inches.

BN BRLthe 3otd 33 535&%3 NZTOOT &OBOT de@jﬁ%ﬁ BTGB, 0T303d Nle

ed

69 0u5rieh AT BN 3T Sy 208 e50TeR

sododoagd: 71 68 66 67 70 71 70 73 72 65 66
mgemgd: 69 64 65 63 65 62 65 64 66 69 62

Below are the data relating to wages earned by workers per day in a certain
factory. Calculate the number of workers earning more than ¥ 75 per day by
applying Newton’s method.

Daily wages R)upto: 50 60 70 80 907100

Numberof workers : 50 150 300 500 700 800

TITDFFODA TEOT T2OF I NS/ 5@35@ ROWORT téeésawdg{ BN QeBERN. ®§§
an. 75%03 075’25% $md§g{ NPROIT TS #o&%oﬁoﬁg{ FOBIGROUD. a'ir%@saf amdﬁdg
Qﬂa’gso&ﬁ)&

B3 O B33 (%) 393 50 60 70 80 %0 100

FOWFTT 50&% : 50 150 300 500 700 800
Estimate the production for the years 2013 and 2015 with the help of the following data :
Year ;2010 2011 2012 2013 2014 2015 2016

Production (in’000tonnes): 200 220 260 ? 350 ?7 430
BPR QeRTI 2082087 RB003003 2013 =08 2015 SRF 33 enggﬁéoﬁoﬁg{ C0TTD INE,

TR . 2010 2011 2012 2013 2014 2015 2016
ezER (000 BanYd) 200 220 260 ? 350 ? 430




